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25. If time, t, is in hours and concentration, C, is in ng/ml, the drug concentration curve for a drug in the

bloodstream isgiven by the function C = 8te~%>t. Complications can arise whenever the level of the
drug is aboye 4.3 ng/mlHow long must a patient wait before being safe from complications?
(A Approximately 1 hour after taking the drug.

ﬂ Approximately 4 hours after taking the drug. o é‘é 3
C) Approximately 6 hours after taking the drug.

(D) Approximately 40 hours after taking the drug.
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15. A student finds the critical number of a function, he then calculates the following
values: f'(0) =1, f'(4) = -3,f"(3) = —2,f"(4) = 0, f7(5) = 1. Which of the following is true?
(A) F ) is : -4
(8) - . — 3ic 3 local mini '
(C) T i =0 inflection point
(D) /f(x)isconcaveupatx =5 #@S 5;“\66 ‘F(}‘) = ( 7 O
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Chapter 7, Section 7.2, Question 21
Find the integral.

Check your answer by differentiation.
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Chapter 7, Section 7.2, Question 23
Find the integral.

/Sin?ecosﬂde

_ S (;;Ae)7cosﬁcf€

Check your answer by differentiation. —

\\

U=ZsinB
da = cos8 G

/sin?6c056d6= +C
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Chapter 7, Section 7.2, Question 35
Find the integral.

Check your answer by differentiation.

+C



21.  Approximate the area under the curve y = x> +2x from x =0 to x = 4 using Ax=2.
# = X(X42)
)

40
© 15 i )= 6 yrN=D yir) =24
(D) 37 y(ﬂ =5 Ys)= |5

¥o=O % =7, =Y
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23.

S(6b) =

The velocity of a particle moving along the x-axis is given by f(¢) =6 —2¢ cm/sec. Use a graph

of f(¢)to find the exact change in position of the particle from time # = 0 to # = 3 seconds
(A) Ocm

® 3em Leds ool H4) = o ()

D) 9cm
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19. Suppose a population is given by P(t) = o5 » Where P is in thousands and ¢ is in years.

5¢7°

fFemwill this population reach/40,000?
A) J 34.86 years

B)  22.45 years
(C)  15.46 years C = 5
(D)  35.21 years
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25.

Find the area bounded between y =3x and y = x”.
A 3
B) 4

@ 4.5
D) 5
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26. Consider the graph to the right with
areas given. Calculate Jj f@)dt 5/
A 3 /\Uﬁ N
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